
ATLAS SCT Module Timewalk Curve  -  Thu Oct 19 23:19:10 2000  -  Unknown   -  Module 0170200003b220s30q2t140r0  -  ABCD2T  -  I nverse sqrt+ fit

Run 1739   Scans 1 - 8   Charges 1.00 - 6.00 fC   Module 0   Stream 0
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Timewalk chip 0 p0       = -1.428 +- 0.03258 

p1       =  17.1 +- 0.04055 

p2       = 0.7703 +- 7.059 
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Timewalk chip 1 p0       = -1.435 +- 0.4329 

p1       = 6.875 +- 0.5435 

p2       = 0.9828 +- 0.002472 
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Timewalk chip 2 p0       = 0.9372 +- 0.04354 

p1       = 13.83 +- 0.02402 

p2       = 0.7068 +- 12.17 
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Timewalk chip 3 p0       = -7.52 +- 0.03302 

p1       = 15.52 +- 0.04353 

p2       = 0.8638 +- 8.573 
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Timewalk chip 4 p0       = -0.8689 +- 0.2939 

p1       = 7.367 +- 0.3707 

p2       = 0.9809 +- 0.001782 

Timewalk chip 4 p0       = -0.8689 +- 0.2939 

p1       = 7.367 +- 0.3707 

p2       = 0.9809 +- 0.001782 

Q (fC)0 2 4 6 8 10 12 14 16 18 20

T
im

ew
al

k 
[n

s]

0

5

10

15

20

25

30
Timewalk chip 5 p0       = -0.9618 +- 0.3486 

p1       = 6.978 +- 0.4353 

p2       = 0.9819 +- 0.002045 
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